

Name of College - S.S. College, J-Bad

Dept - Mathematics

Topic - Resolution of Trigonometrical (Problem
Functions into Factors

TEACHER'S NAME - Samyendra Kumar

Period - 7.30 A.M to 9.00 A.M

Date - 22-04-2021

B.Sc I (HONS)

Problem 1 show that-

$$\cos x - \cot y \sin x =$$

$$\left(1 - \frac{x}{y}\right) \left(1 - \frac{x}{\pi - y}\right) \left(1 - \frac{x}{\pi + y}\right) \left(1 + \frac{x}{2\pi - y}\right) \\ \left(1 - \frac{x}{2\pi + y}\right) \dots \dots \dots$$

Solution $\Rightarrow$

$$\text{L.H.S} = \cos x - \cot y \sin x$$

$$= \cos x - \frac{\cos y}{\sin y} \cdot \sin x$$

$$= \frac{\sin y \cos x - \cos y \sin x}{\sin y}$$

$$= \frac{\sin(y - x)}{\sin y}$$

$$\text{Now } \sin(y - x) = (y - x) \left[1 - \frac{(y - x)^2}{\pi^2}\right] \left[1 - \frac{(y - x)^2}{2^2 \pi^2}\right] \dots$$

$$\left[\text{Since } \sin \theta = \theta \left(1 - \frac{\theta^2}{\pi^2}\right) \left(1 - \frac{\theta^2}{2^2 \pi^2}\right) \left(1 - \frac{\theta^2}{3^2 \pi^2}\right) \dots \right]$$

$$= (y - x) \left[\frac{\pi^2 - (y - x)^2}{\pi^2} \right] \left[\frac{2^2 \pi^2 - (y - x)^2}{2^2 \pi^2} \right] \dots$$

$$= (y - x) \frac{(\pi - y + x)(\pi + y - x)}{\pi^2} \frac{(2\pi - y + x)(2\pi + y - x)}{2^2 \pi^2} \dots$$

$$\text{Also } \sin y = y \left[1 - \frac{y^2}{\pi^2}\right] \left[1 - \frac{y^2}{2^2 \pi^2}\right] \dots$$

$$= y \frac{(\pi - y)(\pi + y)}{\pi^2} \frac{(2\pi - y)(2\pi + y)}{2^2 \pi^2} \dots$$

$$\text{Therefore, } \frac{\sin(y - x)}{\sin y} = \frac{y - x}{y} \frac{(\pi - y + x)(\pi + y - x)}{(\pi - y)(\pi + y)} \dots$$

$$\Rightarrow \frac{\sin(y-x)}{\sin y} = \left[\frac{y-x}{y} \right] \left[\frac{\{(\pi-y)+x\} \{\pi+y-x\}}{(\pi-y)(\pi+y)} \right] \dots$$

$$= \left(1 - \frac{x}{y} \right) \left[1 + \frac{x}{\pi-y} \right] \left[1 - \frac{x}{\pi+y} \right] \dots$$

Show that-

$$\sin x + \cos x = \left(1 + \frac{4x}{\pi} \right) \left(1 - \frac{4x}{3\pi} \right) \left(1 + \frac{4x}{5\pi} \right) \left(1 - \frac{4x}{7\pi} \right) \dots$$

$$L.H.S = \sin x + \cos x$$

using

$$a \cos \theta + b \sin \theta$$

$$= \left[\frac{1}{\sqrt{2}} \sin x + \frac{1}{\sqrt{2}} \cos x \right] \sqrt{2}$$

$$= \left[\frac{a}{\sqrt{a^2+b^2}} \cos \theta + \frac{b}{\sqrt{a^2+b^2}} \sin \theta \right]$$

$$= \frac{\frac{1}{\sqrt{2}} \sin x + \frac{1}{\sqrt{2}} \cos x}{\frac{1}{\sqrt{2}}}$$

$$= \frac{\sin x \cos \frac{\pi}{4} + \cos x \sin \frac{\pi}{4}}{\sin \frac{\pi}{4}}$$

$$= \frac{\sin(x + \frac{\pi}{4})}{\sin \frac{\pi}{4}} \quad \text{--- (1)}$$

$$\text{Now } \sin(x + \frac{\pi}{4}) = \left(x + \frac{\pi}{4} \right) \left[1 - \frac{(x + \pi/4)^2}{\pi^2} \right]$$

$$\left(1 - \frac{(x + \pi/4)^2}{2^2 \pi^2} \right) \left(1 - \frac{(x + \pi/4)^2}{3^2 \pi^2} \right) \dots$$

$\Rightarrow$

$$\begin{aligned} \sin\left(x + \frac{\pi}{4}\right) &= \left(x + \frac{\pi}{4}\right) \left[\frac{\pi^2 - \left(x + \frac{\pi}{4}\right)^2}{\pi^2} \right] \left[\frac{2^2 \pi^2 - \left(x + \frac{\pi}{4}\right)^2}{2^2 \pi^2} \right] \\ &\quad \left[\frac{3^2 \pi^2 - \left(x + \frac{\pi}{4}\right)^2}{3^2 \pi^2} \right] \dots \\ &= \left(x + \frac{\pi}{4}\right) \left[\frac{\pi^2 - \left(x + \frac{\pi}{4}\right)^2}{\pi^2} \right] \left[\frac{2^2 \pi^2 - \left(x + \frac{\pi}{4}\right)^2}{2^2 \pi^2} \right] \left[\frac{3^2 \pi^2 - \left(x + \frac{\pi}{4}\right)^2}{3^2 \pi^2} \right] \dots \end{aligned}$$

$\longrightarrow \textcircled{2}$

$$\sin \frac{\pi}{4} = \frac{\pi}{4} \left[\frac{1 - \frac{\pi^2}{4^2}}{\pi^2} \right] \left[\frac{1 - \frac{\pi^2}{4^2}}{2^2 \pi^2} \right] \left[\frac{1 - \frac{\pi^2}{4^2}}{3^2 \pi^2} \right] \dots$$

$$\sin \frac{\pi}{4} = \frac{\pi}{4} \left(1 - \frac{\pi^2}{4^2} \right) \left(1 - \frac{\pi^2}{2^2 \pi^2} \right) \left(1 - \frac{\pi^2}{3^2 \pi^2} \right) \dots$$

$$= \frac{\pi}{4} \left[\frac{\pi^2 - \frac{\pi^2}{4^2}}{\pi^2} \right] \left[\frac{2^2 \pi^2 - \frac{\pi^2}{4^2}}{2^2 \pi^2} \right] \left[\frac{3^2 \pi^2 - \frac{\pi^2}{4^2}}{3^2 \pi^2} \right] \dots \textcircled{3}$$

$$\textcircled{2} \div \textcircled{3}$$

$$\frac{\sin\left(x + \frac{\pi}{4}\right)}{\sin \frac{\pi}{4}} = \left(\frac{x + \frac{\pi}{4}}{\frac{\pi}{4}} \right) \frac{\pi^2 - \left(x + \frac{\pi}{4}\right)^2}{\pi^2 - \frac{\pi^2}{4^2}} \frac{2^2 \pi^2 - \left(x + \frac{\pi}{4}\right)^2}{2^2 \pi^2 - \frac{\pi^2}{4^2}} \dots$$

$$= \left(1 + \frac{4x}{\pi} \right) \frac{(\pi + x + \frac{\pi}{4})(\pi - x - \frac{\pi}{4})}{(\pi + \frac{\pi}{4})(\pi - \frac{\pi}{4})} \frac{(2\pi + x + \frac{\pi}{4})(2\pi - x - \frac{\pi}{4})}{(2\pi + \frac{\pi}{4})(2\pi - \frac{\pi}{4})} \dots$$

$$\Rightarrow \frac{\sin(\lambda + \frac{\pi}{4})}{\sin \frac{\pi}{4}} = \frac{(1 + \frac{4\pi}{\pi}) (1 + \frac{5\pi}{4}) (\frac{3\pi}{4} - \lambda) (\frac{9\pi}{4} + \lambda) (\frac{7\pi}{4} - \lambda)}{\frac{5\pi}{4} \cdot \frac{3\pi}{4} \cdot \frac{9\pi}{4} \cdot \frac{7\pi}{4}}$$

$$= (1 + \frac{4\pi}{\pi}) (1 - \frac{4\pi}{3\pi}) (1 + \frac{4\pi}{5\pi}) (1 - \frac{4\pi}{7\pi}) (1 + \frac{4\pi}{9\pi})$$

Hence the Result